

$$T = \frac{\pi}{1-r} = \frac{\pi}{r} = AC$$

آرشیو نوری

1/1/8

$$B \Rightarrow x = 0 \rightarrow B = \tan \frac{\pi}{4} = 1$$

$$S = \frac{B \times AC}{2} = \frac{\frac{\pi}{4}}{2} = \frac{\pi}{8}$$

(۲) ✓

$$-\cos^r x = \frac{1}{r} \sin^r x - \frac{1}{r} \quad x^r - (\sin x) x + \frac{1}{r} \sin^r x - \frac{1}{r} = 0$$

$$\frac{r}{q} - \frac{r}{r} \sin x + \frac{1}{r} \sin^r x - \frac{1}{r} = 0 \rightarrow q \sin^r x - r f \sin x + v = 0 \quad \sin^r x - r f \sin x + \frac{r}{q} = 0$$

$$(\sin x - r)(\sin x - \frac{r}{q}) = 0 \quad \sin x < \frac{r}{q} = \frac{r}{r} x$$



$$1 + \tan^r x = \frac{1}{\cos^r x} = \frac{1}{\frac{1}{q}} = \frac{q}{1}$$

(۲) ✓

$$\log(\sin x) - \log(-\cos x) = \log \frac{\sin x}{-\cos x} = \log r$$

$$\frac{\sin x}{-\cos x} = r \quad -\tan x = r$$



$$\sin x = \frac{r}{\sqrt{10}} \quad \cos x = -\frac{1}{\sqrt{10}}$$

$$\sin x - \cos x = \frac{r}{\sqrt{10}} + \frac{1}{\sqrt{10}} = \frac{r+1}{\sqrt{10}} = \frac{r\sqrt{10}}{10}$$

(۲) ✓

~~sin^r theta = (1 - cos^r theta)^r = 1 + cos^f theta - r cos^r theta~~

~~sin^r theta = (1 - cos^r theta)^r = 1 + cos^f theta - r cos^r theta~~

~~sin^r theta = (1 - cos^r theta)^r = 1 + cos^f theta - r cos^r theta~~

$$\sin^r \theta = (1 - \cos^r \theta)^r = 1 + \cos^f \theta - r \cos^r \theta$$

$$\cos^f \theta - r \cos^r \theta + 1 + \cos^r \theta = \cos^f \theta - \cos^r \theta + 1 = \frac{r}{\theta}$$

$$\cos^f \theta + \sin^r \theta = \cos^f \theta - \cos^r \theta + 1 = \frac{r}{\theta}$$

(۲) ✓

$$\frac{\sin^r x}{\cos x} - \frac{1}{\cos x} > 0 \quad \frac{\sin^r x - 1}{\cos x} > 0 \quad \xrightarrow{[-1, 0]} \cos x < 0$$

$$\frac{r \sin x + \sin x \cos x}{r - r \cos^r x} = \frac{\sin x (r + \cos x)}{r \sin^r x} < 0 \Rightarrow \sin x < 0$$

(۲) ✓

~~$$r \cos \alpha + r \sin \alpha = 0 \rightarrow \frac{r \cos \alpha + r \sin \alpha}{\sin \alpha \cos \alpha} = 0$$~~

$$\frac{r}{\sin \alpha} + \frac{r}{\cos \alpha} = 0 \rightarrow \frac{r \cos \alpha + r \sin \alpha}{\sin \alpha \cos \alpha} = 0$$

$$r \cos \alpha + r \sin \alpha = 0 \quad -9$$

$$r \cos \alpha = -r \sin \alpha \quad \tan \alpha = -\frac{r}{r} \quad \cot \alpha = -\frac{r}{r} \quad \tan \alpha + \cot \alpha = \frac{-r-r}{r} = \frac{-12}{9}$$

(۲) ✓

$$1 + \sin \theta = 1 + \cos \theta = \sqrt{r \cos^2 \theta} = \sqrt{r} \cdot \cos \theta$$

-V

$$\sin \theta + \sin \theta = \sin (\theta + \theta) + \sin (\theta - \theta)$$

(۱۵)

$$\frac{\sqrt{r} \cdot \cos \theta}{r \sin \theta \cdot \cos \theta} = \sqrt{r}$$

$$1 - r \sin^2 \theta = \sin^2 \theta + \cos^2 \theta - r \sin^2 \theta = \cos^2 \theta - \sin^2 \theta = \cos 2\theta$$

$$\frac{1 - \tan^2 \theta}{1 + \tan^2 \theta} = \cos 2\theta \quad -A$$

$$r \cos^2 \theta - 1 = r \cos^2 \theta - \sin^2 \theta - \cos^2 \theta = \cos^2 \theta - \sin^2 \theta = \cos 2\theta$$

$$\cos 10^\circ \times \cos 20^\circ \times \cos 40^\circ \times \frac{\sin 10^\circ}{\sin 10^\circ} \rightarrow \frac{1}{\sin 10^\circ} (\sin 10^\circ \cos 10^\circ \times \cos 20^\circ \times \cos 40^\circ) = \frac{1}{\sin 10^\circ} \left(\frac{1}{r} \sin 20^\circ \cos 20^\circ \times \cos 40^\circ \right)$$

$$\frac{1}{\sin 10^\circ} \left(\frac{1}{r} \sin 20^\circ \cos 20^\circ \right) = \frac{1}{\sin 10^\circ} \times \frac{1}{r} \sin 40^\circ = \frac{1}{r} \frac{\cos 10^\circ}{\sin 10^\circ} = \frac{1}{r} \cot 10^\circ$$

(۲) ✓

$$\sin \alpha + r \cos \alpha = r \rightarrow \sin \alpha = r - r \cos \alpha \quad \cos^2 \alpha + (r - r \cos \alpha)^2 = 1$$

-9

$$\cos^2 \alpha + r^2 + 9 \cos^2 \alpha - 12 r \cos \alpha = 1 \quad 10 \cos^2 \alpha - 12 r \cos \alpha = -r^2 \quad \cos^2 \alpha = r \cos^2 \alpha - 1$$

$$\delta \cos^2 \alpha = 10 \cos^2 \alpha - \delta \quad 10 \cos^2 \alpha - 12 r \cos \alpha - \delta = -1$$

(۲) ✓

$$\sin \alpha \times \sin \beta = \frac{1}{4} (\cos(a-b) - \cos(a+b)) \rightarrow \sin B \sin C = \frac{1}{4} (\cos(B-C) - \cos(B+C)) \quad -10$$

$$\cos a \times \cos b = \frac{1}{4} (\cos(a+b) + \cos(a-b)) \rightarrow \cos A \times \cos A = \frac{1}{4} (\cos A + \cos A)$$

$$A + B + C = 180^\circ \rightarrow B + C = 180^\circ - A \Rightarrow \frac{1}{4} (\cos(180^\circ - (rC + A)) - \cos(180^\circ - A))$$

$$= \frac{1}{4} (\cos(rC + A) + \cos A)$$

$$\frac{1}{4} \cos A + \frac{1}{4} = -\frac{1}{4} \cos(rC + A) + \frac{1}{4} \cos A \rightarrow -\frac{1}{4} \cos(rC + A) = \frac{1}{4} \cos(rC + A) = -1$$

$$rC + A = 180^\circ \quad C = B = rC \quad A = rC$$

(۲) ✓